2’ DISCHARGE
W/FLAT PLATE

PART/PRINT #: PART DESCRIPTION: SCALE: REVISION: DATE:
AKP80110 |STRUCTURAL FOAM 18” 2 X 2 BOLTDN NOT TO SCALE 002 |9/5/03
(8)1/2"X5/8“ SLOT HOLES ON A 19 3/8° B.C. —4 1/8"—

_|
T
|_|
< (DISCHARGE> RP1 FITTING
-,
A O
>
< @1/4"X1 1/4” LAG BOLTS
E W/ 1/4” FLAT WASHERS
N
|_|
9 4 1/8"
_|
% —te——- - =
2.
O
—
m
2’ DISCHARGE
O W/FLAT PLATE
AJ (VENT)
% $8”
S o N
A0
_|
=<
0
D " "
- @> 1/74"X1 1/4’LAG BOLTS
W/ 174" FLAT WASHERS
>
A
|_|
=
= l
_ A v ZaZ1 744 2T 7]
2,
_|
A0
— v 4
M 3/8 I 20 1/2
2,
|_|
=
() B.OM.
B AKR50540-R 3X3X2.5 STRUCT. FOAM COVER
AKP10410 GASKET PACK 18" CVR 2X2 BOLT DN
AKR50640 (2) 2" DISCHARGE
AKR70540 (2) 2" FLAT PLATE
AKR50095 (4) 1/4"X1 1/4" LAG BOLTS
AKR50110 (4) 1/4" FLAT WASHERS
AK INDUSTRIES INC. DRAWN BY: [ TOLERANCE: SIGNATURE:
2055 PIDCO DR.
PLYMOUTH, IN. 46563
PHONE:(S74> 936-6022 [MOLIVAREZ | £+ 0.125 UNLESS SPECIFIED OTHERWISE




